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7DWLO�HVQDVÕQGD�WXULVWOHULQ�NDWÕOGÕNODUÕ�HWNLQOLNOHULQ�LoLQGH�\HU�DODQ�DOÕú�

YHULú��VRV\DO�YH�SVLNRORMLN�NDWNÕODUÕ�YH�\HUHO�HNRQRPL\H�HWNLOHUL�DoÕVÕQGDQ�

|QHPOL�ELU�WXULVWLN��U�QG�U��$OÕú�YHULú�DPDFÕ\OD�]L\DUHWoLOHULQ�ELU�E|OJH\H�

oHNLOPHVL��JHOHQ�]L\DUHWoLOHULQ�DOÕúYHULú�E|OJHVLQGH�NDOPD�V�UHOHULQLQ�YH�

VDWÕQDOPD�G�]H\OHULQLQ�DUWÕUÕOPDVÕ��oHNLP\HUL�\|QHWLFLOHULQLQ�HQ�|QHPOL�\|QHWVHO�

VRUXQODUÕ�DUDVÕQGD�\HU�DOPDNWDGÕU��7XULVWOHU��]DPDQ�YH�SDUDODUÕQÕQ�GLNNDWH�GH÷HU�

ELU�\�]GHVLQL�DOÕúYHULúH�D\ÕUPDNWD��DQFDN�DOÕúYHULú�\DSDQ�WXULVWOHULQ�NDUDU�YHUPH�

V�UHoOHUL��GX\JXODUÕ��VDWÕQDOPD�GDYUDQÕúODUÕ�YH�EXQODUÕ�HWNLOH\HQ�Lo�YH�GÕú�

HWNHQOHU�\HWHULQFH�LQFHOHQPHPLúWLU�

<DSÕODQ�oDOÕúPDODU�Lo�YH�GÕú�oHYUHQLQ�KRú�ROPDVÕQÕQ�NLúLOHULQ�ROXPOX�

GDYUDQÕúODU�VHUJLOHPHVLQH�HWNL�HWWL÷LQL�EHOLUWPHNWHGLU��%X�HWNLOHU�GR÷UXGDQ�

RODELOHFH÷L�JLEL�D\QÕ�]DPDQGD�oHYUHQLQ�NLúLGH�X\DQGÕUDFD÷Õ�GX\JXVDO�WHSNLOHU�

�LPDM��DUDFÕOÕ÷Õ\OD�GD�LQVDQODUÕQ�DOÕúYHULú�GDYUDQÕúODUÕQD�\DQVÕ\DELOPHNWHGLU��

%D]Õ�HWNHQOHULQ�NLúLGH�X\DUÕFÕ�HWNLVL�ED]Õ�HWNHQOHULQ�LVH�KRúQXWOXN�\DUDWÕFÕ�HWNLVL�

RODELOHFH÷L�OLWHUDW�UGH�WDUWÕúÕOPDNWDGÕU��$QFDN��OLWHUDW�UGH�PD÷D]DQÕQ�GÕú�

oHYUHVLQGH�\HU�DODQ�KDQJL�IDNW|UOHULQ�P�úWHULGH�ROXúDQ�L]OHQLPL�YH�GÕú�oHYUH�

L]OHQLPLQLQ�PD÷D]D�LoLQGHNL�KL]PHW��U�Q�NDOLWHVL�GH÷HUOHQGLUPHOHULQH�YH�

PD÷D]D�LoL�DOÕúYHULú�GDYUDQÕúODUÕQD�RODVÕ�HWNLOHUL�WDUWÕúÕOPDPDNWDGÕU��'Õú�YH�Lo�

oHYUH�HWNHQOHULQLQ�YH�EXQXQ�\DUDWÕ÷Õ�LPDMÕQ�X\XP�X\XPVX]OX÷XQXQ�WHUFLK�YH�

VDWÕQDOPD�GDYUDQÕúODUÕ��]HULQH�GR÷UXGDQ�YH�GROD\OÕ�HWNLOHULQLQ�RUWD\D�NRQPDVÕ�

X\XP�X\XPVX]OX÷X�\DUDWDQ�HWNHQOHULQ�\|QHWLOHELOPHVL�DoÕVÕQGDQ�JHUHNOLGLU��

øOJLOL�DODQGD�YDU�RODQ�X\JXODPDOÕ�oDOÕúPDODUÕQ�VD\ÕVDO�D]OÕ÷ÕQGDQ�KDUHNHWOH��EX�

oDOÕúPDGD�PD÷D]D�LoL�PD÷D]D�GÕúÕ�oHYUHVHO�HWNHQOHUGHQ�UHQN�YH�NDODEDOÕN�

HWNHQOHULQLQ�WXULVWOHULQ�DOÕúYHULúWH�\DNÕQODúPD�X]DNODúPD�GDYUDQÕúODUÕQD�HWNLOHUL�

LQFHOHQPHNWHGLU��

$QDKWDU�6|]F�NOHU � �$OÕú�9HULú��øPDM��'X\JXVDO�9H�%LOLúVHO�øPDM��

dHYUHVHO�(WNHQOHU�5HQN�9H�.DODEDOÕN���<DNÕQODúPD��8]DNODúPD�'DYUDQÕúÕ


